
8586 8586.5 8587 8587.5 8588
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta
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_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

0.5−

0
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1

1.5

de
lta
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2X
4e

Y

delta46_12X4eY:cyclenum {run == 7288}
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cyclenum
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7289.5

7290

ru
n

run:cyclenum {run == 7288}
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0
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1
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2

2.5

3
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t

segment:cyclenum {run == 7288}



8586 8586.5 8587 8587.5 8588
cyclenum

111.4−

111.2−

111−

110.8−

110.6−

110.4−

110.2−

110−

109.8−

109.6−

109.4−

109.2−

us
l_

1X

usl_1X:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

45.6

45.8

46

46.2

46.4

46.6

46.8

47

47.2

47.4

47.6

47.8

us
l_

4e
X

usl_4eX:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

14

14.2

14.4

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum
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7286.5

7287

7287.5

7288

7288.5

7289

7289.5
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n

run:cyclenum {run == 7288}



8586 8586.5 8587 8587.5 8588
cyclenum

136.5−

136−

135.5−

135−

134.5−us
r_

1X

usr_1X:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

193.2

193.4

193.6

193.8

194

194.2

194.4

194.6

194.8

195

195.2

195.4

us
r_

4e
X

usr_4eX:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

8

8.5

9

9.5

10

us
r_

4e
Y

usr_4eY:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
r_
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X

usr_12X:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum
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7286.5

7287

7287.5

7288

7288.5

7289

7289.5

7290
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n

run:cyclenum {run == 7288}



8586 8586.5 8587 8587.5 8588
cyclenum

33630.2

33630.4

33630.6

33630.8

33631

33631.2

33631.4

33631.6

33631.8

33632

33632.2

33632.4

us
l_

co
il1

usl_coil1:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

6664

6664.2

6664.4

6664.6

6664.8

6665

6665.2

6665.4

6665.6

6665.8

6666

6666.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

4222.5

4223

4223.5

4224

4224.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

737.8−

737.6−

737.4−

737.2−

737−

736.8−

736.6−

736.4−

736.2−

736−

735.8−

735.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

14662.5

14663

14663.5

14664

14664.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum
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7286.5

7287

7287.5

7288

7288.5

7289

7289.5

7290
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n

run:cyclenum {run == 7288}



8586 8586.5 8587 8587.5 8588
cyclenum

27689−

27688.5−

27688−

27687.5−

27687−

us
r_

co
il1

usr_coil1:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

5425.5−

5425−

5424.5−

5424−

5423.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

3620.5

3621

3621.5

3622

3622.5

us
r_

co
il4

usr_coil4:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

931.4−

931.2−

931−

930.8−

930.6−

930.4−

930.2−

930−

929.8−

929.6−

929.4−

929.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

18078.2

18078.4

18078.6

18078.8

18079

18079.2

18079.4

18079.6

18079.8

18080

18080.2

18080.4

us
r_

co
il7

usr_coil7:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum
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7286.5

7287

7287.5
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7288.5

7289

7289.5

7290
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n

run:cyclenum {run == 7288}



8586 8586.5 8587 8587.5 8588
cyclenum

426−

425.5−

425−

424.5−

424−1X
_c

oi
l1

1X_coil1:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
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71−

70.5−

70−

69.5−

69−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

26.5

27

27.5

28

28.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
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488−

487.5−
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486.5−

486−4e
X

_c
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l1

4eX_coil1:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

94.5−

94−

93.5−

93−

92.5−

4e
X

_c
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l3

4eX_coil3:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

27.2

27.4
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27.8

28

28.2

28.4
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28.8
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29.4

4e
X
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4eX_coil7:cyclenum {run == 7288}
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169.5
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170.5
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Y
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4aY_coil4:cyclenum {run == 7288}
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43.5

44

44.5

45
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Y
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l6

4aY_coil6:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
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10.5−

10−

9.5−

9−

8.5−

4a
Y

_c
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l7

4aY_coil7:cyclenum {run == 7288}

8586 8586.5 8587 8587.5 8588
cyclenum

180.2

180.4

180.6

180.8

181

181.2

181.4

181.6

181.8

182
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182.4

4e
Y
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4eY_coil4:cyclenum {run == 7288}
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23−
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22−

21.5−

21−

4e
Y
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4eY_coil6:cyclenum {run == 7288}
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9−

8.5−

8−

7.5−

7−
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Y
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4eY_coil7:cyclenum {run == 7288}
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246.5−
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244.5−

12
X
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12X_coil1:cyclenum {run == 7288}
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86−
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85−
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X
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12X_coil3:cyclenum {run == 7288}
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8.8

9

9.2

9.4
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9.8
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10.8
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X
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12X_coil6:cyclenum {run == 7288}
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439−12
X
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12X_coil7:cyclenum {run == 7288}
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run:cyclenum {run == 7288}
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